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Direetions for the following 6 (six) items :

Eead the following five passages and answer
the ftems that follow. Your answers to these
items should be based on the passages only,

Pagsage—1

In India, over the last decade or so, labour has
been departing agriculture, but is only going to
construction and unregistered manufacturing
which are not markedly better jobs. Services,
where labour tends to be most productive, are
not generating the additional jobs the country
needs. India will need 24 million or 80 jobs over
the next decade. The new zector, e-commerce,
can at best close only half the jobe gap. Only

those sectors that drive domestic demand such *

a5 health and education can comfortably fill the
other half.

1. Which one of the following is best
implied in the passapge?

fal Strong measurcs need to be taken
o reduce the rural o urban
tmigration of labour.

condition in
unregizterad
o be

) The warking
congtmetion  and
manufacturing needs
improved.

fg! Service sector haa been reducing
the prablem of unemployment.

fd] Inereased social sector spending

s imperative for large-scale job
creatian.

HGY-D-LEKUV /594

Passage—2

In India, the currént focus on the right to
privacy. is basad on some new realities of the
digital ags. A right is a substantive right only if
it works in all situations, and for evervone.
A oright to free expression for an individusl
about her exploitation, for instance, is
meaningless without actual availability of
gecurity that puarantees that private force
canmat be used to thwart this right. The role of
the State, therefore, is not just to abstain from
preventing rightful free expression, but also to
actively ensure that private parties are not able
to Block it

2. On the basis of the above passage, the
following assumptions have been made :

1. Slate should hawve &Omme
mstitutions 1o Ersure ita
appropriate role in a digital society,

2, State should engure that private
parties do not vielate the citizens’
right to privacy.

3. Digital economy is not compatible
with the idea of not viplating the
citizens’ privacy.

Which of the above assumptions is/are

valid?

fa) 1 and 2
f) 3 only
e} 1and 3

{d) 2 only

| P.T.O.
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Passagc—3

Une of the biggest ironica around water is that
it comes from fvers and other wetlands, Vet it
iz aeen as divorced from them, While water ia
used as a resource, public policy does not
abways grasp that it i3 & part of the na.ti:m]
ccosystem, Efforts at engincering water systems
are thus efforts at augmenting water supply
rather than strengthening the capacities of

ecnlogical systems.

3. Which one of the following s the most
logical and rotional infersnce thal
can be made from the above passage?

fa} Rivers and other wetlands should
be  protected under Ramsar
Convention.

b} Engineering water systems should
be modernized and  further
augmented.

fe) Wetlands need to be reinforced as
more than just open sources of
water,

fid] Water supply should not be free of
cost 50 as to prevent s misuse or
WErse

Paseage—q4

Assel  allocation is  the mosat important
investment decision we will ever make, and
sadly, most of us do not give that decision the
impoertance it deserves. We are adamant about

secking predictability with our future, We tend

HOY-D-LEKLUV/B8A

to think of investing in risky assets as
extremely volatile and value eroding. We alsg
dislike fuctuating returmns and the loss of
control of investment. We think ocur money is
best left idle, unproductive but safe. There is
rio asset that is rigk-free. We could lose our
jobs, our homes can lose value, our banks
can go bankrupt, our bonds can default, the
government can collapee and companies we
chose [l.:;ﬂd.t}' may cease to exist, But we cannot
live life assuming that all these extreme events
are waiting to happen, and all at the same time.
All these extreme forma of riske we know will
not manifest at the same time.

4. Which one of the following statements
best implies the suggestion given by
the author of the passage?

fa) Distribute your wealth scross
different kinde of asseis so that
your risks would be minimized.

(b} Risk-taking behaviour should be
a necessary compenent of vour
persenality if you want to generate
wealth,

fel While making investments, find a
trustworthy  asset manapgement
organization which would manmgs
vour wealth for you,

fd) ¥ou should know that investing
your moncy is a risky business.

|PT.0.
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Passage—>5

Although most of the Genetically Modified [GM)
crops cultivated now are genetically enginesred
for & amingle trait, in fture, crops genetically
engineered for more than one trait will be the
nettn, Thus, bistechnolopy's role in agriculturs
and the regulation of the same cannot be
understood solely in the context of the current
generation of GM craps. Instead, there is a need
to take a comprehensive look, taking into account
wvEOOUE  aspects,  meluding socio-economéc
impacts, so that the potential of the technology
can be hamessed while minimising negative
impacts. Given the importance of biotechnology
in developing varebes that can help I climate
change mitigation and adaptation, not usmg
biotechnolegy 82 a part of the climate change
action plan c¢annot b an opton. Domestc
regulation of biotechnology canmot be viewed in
izolation of trade policy and obligations wnder
various international treaties and conventions.

8. With reference to the above passage, the
following assumptions have been made
1. Biotechnology regulation iz an

cvolving process,

2. Participation of people iz needed
in  policy decisions regarding
binlechnology regulation.

3. Biotechnology regulation should
take into account socio-cconomic
aspects in decision-making.

4. Wider imvolvement of political
executive in biotechnology repulation
improves its effectivencss in dealing
with the country’s trade policies and
international obligations.

Which of the above assumplions are

valid?

fal 1,2 and 4 only

bl 1 and 3 only

fel 2,3 and 4 only

(d} 1,2, 3 and 4

HGY-D-LKUV/69A

6. Which one of the following statements
best implies the crux of the passage?
ff  Precautionary principle is not given

importance in eurrent debate on
developing GM crops,

{ii] Biotechnology is not currently wsed
in elimate change mitigation and
adaptation mechanisms.

i Bistechnolopy's role 1s not confined
to  the current priorities of
developing GM crops.

fdl The negative impacts of
biotechnology are not  properly
underatood,

7. How many seroes are there at the end of
the following product?

Txox10x15x20=x25% 30

¥ 35 xA0x 45 50 x 55 x G0
fa} 10 i 12
fe) 14 fdl 15

B, Lat X¥Z be a three-digit number, where
X+ ¥+ Z) is not a multiple of 3. Then
IXVE + VEX + ZXY) iz not divizible by

fa] 3 ib) 9
) 37 [l (X+Y+2)

9. Let p, g, r and 5 be patural numbers
such that

p-2016=g+2017=r-2018=5+2019

Which one of the fallowing is the largest
natiiral e bery

fa) p L g
fet o« d) s
10. How many five-digit prime numbers can

be obtained by using all the digits 1, 2,
¢ a4 and 5 without repetition of digits?

fa) Zero fb) One
fel  Mine fd} Ten

| PT.0.
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In the aum
4 lE@ @+ D@+ E] =] @M@
for which digit does the symbol @ stand?

fa) 2
fB) 3
o4

fd) 5

12, If you have two siraight sticks of length

73 feet and 325 feet, what is the
minimum length can you measure?

fa} 0-05 foot
fb) 0-25 foot
fel 1 foot

{dl 325 feet

13. A simple mathematical operation in each

number of the sequence 14, 18, 20, 24,
a0, 32, ... results in a sequence with
respect to prime numbers. Which one of
the following iz the next number in the

B UScE?
fa) 34
fb) 36
e 38

) 40

HGY-D-LKUV/59A

14, Onc page ie torn from a booklet whose

pages are numbered in the usual
manner starting from the first page as 1.
The =2um of the numbers on the
remaining pages is 195, The torn page
contains  which of the following
numbers?

fal S, 6
L) 7.8
fcd 9, 10
fd) 11, 12

15. Consider the lollowing arrangement that

has some missing letters :
abab_b_beh dededed_d

The missing letters which complete the
AIManpgemant are

f} &, b, e d
fbl &, b, d, e
fe} a,c, e e

gl b, e d, e

16, Let AJBC and DEIF be four-digit

numbers where each letter represents a
different digit greater than 3. If the sum
of the numbers iz 15902, then what is
the difference between the values of
Aand D7

fa) 1
‘) 2
el 3
(d) 4

[ P.T.O.
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17. Two Statements 81 and 52 are given

below followed by & Quesbon :

81 : There are not more than two figures
an any¥ page of a 51-page book.
52 : There is at least one figure on every
pags.
Cuestion ;
Are there more than 100 figures in
that book?
Which one of the following is correct in
respect of the above Statements and the
Ciestion?

ja) Both 351 and 52 are sufficient to
answer the CQuestion, but neither
51 alone nor 32 alone is sufficient
to answer the Cuestion,

fb) 51 alone ie sufficient to answer the
Question, =

e 51 wand 52 together are not
sufficient to answer the Question,

fd 52 alone is sufficient to answer the
Qurestion,

18, Consider the following data -

Average | Average
marks in | marks in
Englizh Hineli
Girls g9 B
Boys B 7
| Cuverall average marks B8 |

What iz the value of x in the above
tabla?

faj T8
b 76
fe) T4
fd) 72

HOGY-D-LELIV [ 59A
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19. A family of two generations consisting of

six members B, O B, 8 T and U has
three males and three females. There
are two marred couples and two
unmarmed siblings, [ i3 Ps daughter
and O i R'S mother-in-law., T I& an
unmarried mate and Sis a male. Which
cree of the fellowing is carrect?

fm) R is [Ms hushand,

B R is 5% wife.

fel & is unmarried,

fdl HMone of the above

20. If in a particular year 12th January ia a

Sunday, then which one of the following

is correct?

fal 15th July is a Sunday if the yvear ia
a leap vear,

fb)  15th July is a Sunday if the vear is
not a leap year.

fel 12th July is a Sunday if the year is
¥ a leap year,

fd) 12th July is not a Sunday if the
year is a leap year.

[PT.0.
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Directions for the following 7 [seven) ltems :

Read the following five passages and answer
the items that follow. Your answers o these
ftems should be based on the passages only,

Passage—1

Private investment in general is volatile, Foreign
private investment iz more volatile because il
pvailable investment avenues are significantly
greater (Le., the entire world), Therefore;, the
regponsibility of providing employment cannot
be left to Foreign Direct Investment (FDI). The
current FDI inflows are volatile over time and,
across sectors and regions, which 18 a
necessary consequence of their search for the
highest returns, The adverae consegquences are
iinstable employment and an accentuation of
income and regional inequalities, A probable
positive consequence of foreign investment is
the inflow of new technology and its subsequent
diffusion. However, the technology diffusion is
not at all cerlain because the existing state of
physical and human capital in India may prove
inadequate for the diffusion.

21. With reference to the above parsage, the
following assumplions have been made ;

1. Relying on foreign investment in
the long run is not an economically
sound pohioy.

HGY-D-LKUV/59A
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2. Policieg muet be undertaken (o
reduce volatility in foreign private
investment.

he undertaken to
domestic mrivale

3. Pobocies must
atrengthen
invesiment,

4, Puoblic mvestment should be given
priotity over private investment.

5, Substantinl public iovestment in
education and health should be
undertaleen,

Which of the above assumptions is/fare

valid?

fal 1, 2 and 4

{6 1, 3 and 5

fe) 2,4 and 5

{d} 3 only

Pazssage—2

Many opportunities to hamess the highly
skewed, seasonal and spatial distribution of
monseon flows, which oecur in a four-month
perod from June to September annually, have
been loat. Since these few months account for
most of the rainfall and consequent freshwater
availability, the need for holding rainwater in
reservoirs, for subsequently releasing it for use
over tl':u vear, is A necessity nobedy can afford
to overlook. Climate change will continue to
affect weather conditions and create water
shortages and excesses. While millions suffer

| BT.0.
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droughts and foods, waters in the

country's many rivers fdow unubibized, and are

fromm

dizcharged into the sca every year,

22. With reference to the above passage,
which of the ilowing could be the most
rational and practical implicotions

for India?

1. Inter-linking of rivers should be
underiaken,

2. A network of dams- and canals
should be built across the country
for proper distribution of water,

3. Farmers should be provided easy
loans for digging borewells,

4. Usape of water for sagriculture
should be regulated by law, -

5. Distnbution of nver water among
regions should be regulated by the
Union Government.

Select the correct answer using the code
given below.

faj 1 and 2

fB) 2, 4 and 5

fe 1,3 and 4

(d] 2, 3 and 5

Passage—3

People will invest in education whenever they
are granted the economic freedom to fully enjoy
its benefits, Again, this is for the obvious reason
that the return on education increases as the
level of economic frecdom risea. When people,
thanks to lower tax rates, are allowed to retain
moat of the higher income that they gain from
ecach incremental level of education, it males
eminent sense to invest in education, On the
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other hand, when the government decides ba
tax the higher income of cducated individuals
at even higher rates, it makes very litile sense
to invest in educating onesell urther, The same
incentives apply to parents who decide on
whether to invest in their children's education.

23, With reference to the above passage, the
following assumptions have been miade :

1. lLower fax rates in a couniry
invanably translate into greater
investments in higher education.

2, Investment in the education of
childrety ensures their economic
freedom.

3. Economic freedom has a positive
impact on building up human
capital,

Which of the above assumptions isfare
valid?®

fa} 1 only
(bl 2 only

! 3 only
{d] 1,2 and 3

Passagc—4

Dur urban bodies cannot possibly ensure
sustainable delivery of water in our cities
unless financing mechanisms are put in place,
Water delbvery reguires heavy investment in
collecting it from a natural source, treating it
to malke it potable, and laying a distribution
ntmnrrk of pipes for delivery to the users. It also
requires myvestments in sewerage mfrastructurs
and scwage treatment plants o that the sewers
can carry the wastewater to these plants to
ensure that no untreated sewage is discharged
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back inte natural water bodies. IT our citles
were rich enough to meot the entire cost, water
could be delivered fres. They are not.

24, What is the mest logical and crucial
message conveyed by the passage?
fal Urban local bodies must recover

coste through user charges. #

Urban local bodies are not efficient
enough to  meet the water
requirements of our cities.

]

Water shortage in our cities is a
perenmnial problem that cannot be
solved.

In view of the water crigls in our
cities, there is an urgent need io
limit the population of citiea by
adopting an upper limit of
population size.

(el

fel}

5. With reference to the above passage, the
following assumptions have been made :

1. Rich cities only can ensure
sustainable delivery of water.

2, Sustainable delivery of water in
cities means much more than
supplying water to houesholds,

Which of the above assumptions isfare

valid?

fa) 1 only

(b) 2 omly

fo} Both 1 snd 2

fd} Neither 1 nor 2

Pasgage—05

In India, agriculture stll engages about half of
its workforce, and about 85 per cent of its farms
are small and marginal. Compared to China
and Vietnam, which have experienced fast
structural and rural trensformation, India's
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story is of slow transformation. As a result,
peverty reduction in India was at a much slower
pace during 1988-2014, compared to China
and Vietnam. India's poverty reduction was
slow during 1988-2005, but during 2005-2012,
it aceelerated dramatically-—almost three fimes
faster than during the earlier period. What did
India do during this pericd? Research reveals
that the relative price scepario changed
gignificantly (by more than 50%} in favour of
agriculture in the wake of rising global prices.
This boosted private investments in agriculture
by more than 50%. As a result, agri-GDP
growth touched 41% during 2007-2012 as
against 2-4% during 2002-2007. The net
surplus of agri-trade touched $25 billion in
2013-2014; real farm wages rosc by T per
annurm, All this led to unprecedented fall in
poverty.

26, With reference to the above passage, the
following assumptions have been made :

1. Structural and rural transforma-
tlon is imposeible when farms are
mainly small and marginal.

2, A good price incentive can trigger
investments in agriculiure.

3, India needs to build value chains
for high-value agr-products like
livestock and horticulture,

4. Higher giobal prices of agricultural
commodities are essential for
India's poverty reduction.

Which of the above assumptions are
vahid?

(a)
2 and 4

1 and 3

fe} 2 mnd 3
fdl 3 and 4

[ BT.0.
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27, Which one of the following statements

best reflocts the critical message of
the passage?

fa) Indin should create large-scale
off-farm  raral employment o
reduce poverty in the near future

fb) India should create a large number
of farmer producer companies.

fc)  Private investment in agriculture
should be given priority over public
invoatment.

(d) Inclusive agricultural growth is
key to reduce poverty in the near
future.

28, Two Statements 51 and 32 are given

below with regard to four numbers
P, 0, R and 8 followed by a Question :

51 : R is greater than P as well as

Lg

852 : 5 s not the largest one.
Qhuestion

Among four numbera P, @, Rand 5,
which ono is the largest?

Which one of the following is correct in
respect of the above Statements and the
Question?

{a} 51 alons is sufficient to answer the
Quesation.

i) 52 alone is sufficlent to answer the
Question,

fe) 51 and S2 together are suflicient to
anawer the Question, but neither
81 alone nor S2 alone is sufficient
to answer the Question.

fd) 81 and S2 together are not
sufficient to answer the Question.
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i jd) 81

29, Two Statements S1 and 852 are given

below followed by a Question .

81 ; n 15 & prime number,

5% rm leaves a remainder of | when
divided by 4,

Chaestion
If 7 is a unique natural number
betwesn 10 and 20, then what is n?

Which one of the [allowing 18 correct In

respect of the above Statements and the

Qucstion?

fa) 51 alone is sufficient to answer the
Question.

fb) 52 alone is sufficient o answer the
Cicstionm.

fe} 81 and 32 together are sullicient to
angwer the Quesation, but neither
81 alone nor 82 alone ie suflicient
to answer the Question,

fd) 31 and 852 together are Dot
sufficient 1o answer the Question.

30. Twa Statements 81 and 52 are given

below with regard to two numbers
followed by a Question

81 : Their product is 21,

&3 ¢ Their sum iz 10,

Question @

What are the two numbers?
Which one of the following is correct in
respect of the above Statements and the
Question?

f) 51 alone is sufficient to answer the

Question,
fb) 52 alone iz sufficient to answer the

Duestion,
je) 81 and 52 together are sufficient to

answer the Question, but neither

51 alone nor 32 alone is sufficient

to answer Lthe Queston.

gnd 52  together are not
gufficient to answer the Question.

[ ET.0.
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A man walks dawn the backside of his

house straight 25 metres, then tume o
the right and walks 50 metres again;
then he turns towards left and again
wialks 25 metres. If his house faces to
the East, what ig his direction from the
starting point?

fa]  South-East
fbl  South-Weat
fof  MNorth-East

fd) Morth-West

32. Two Statements are given followed by bwo

Ceonclasions :
Statements :

All pumbers are divisible by 2.
All numbers are divisible by 3.

Conclusion-1 :

All numbers are divisible by 6.
Conclusion-11 -

All pumbers are divisible by 4.

Which of the above Conclusions
Ipgically follows/follow from the {wo
given Statements?

o) Omly Conclusion-I
fh)  Omly Conclusion-IT

e} Neither Conclusion-] far
Conclusion-[]

{d) Bath Conelusion-1 and
Conclasion-I1
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33. Two Statements are given followed by two
Conclusions

Staternents ;

All cats are dogs,
All cafs are black.

Conclusion=[ :
All dogs are black,
Conclustor-TI1 ;

Some dogs are not black.
Which of the above Conclusions

logically  follows/follow  from  the
two given Statements, disregarding
commaonly known facts?
fel Only Conclasion-1
B Only Conelusion-1l
fe] MNeither Conclugion—{ (§1513
Conclusion-II
fdl Both Conclusion=1 and

Cenclusion-II

34. Congider the following sequence of
numbers
214739857263 15
8638522434960

How many odd numbers are followed by
the odd number in the above sequence?

fal 5
) 6
el 7
d) &
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35. Ais 16th rom the left end in 8 row of

boys ARd 1¥is B8th from the right end.
G is 11th from A towards the right and
Arcd from V¥ towards the right end. How
many bovs are there in the row?

fa] 40

b 41

fcl 42

fdl Cannct be determined due to
insufficicnt data

36. Three Statementa 51; 82 and 53 are

given below followed by a Question ;

51 1 Oks vounger than D, but older than
Aand B

52 : I s the cldecat.

83 : A i1z older than B

Question ;
Whe among 4, B € and D is the
youngeosat? "

Which one of the following is correct in

respect of the above Statements and the

Ouestion?

fer} 21 alone is sufficient 1o answer the
usatiorn,

(b} &1 and 52 together are sufficient to
answer the Question,

el 52 and 53 together are sulficient to
anawer the Question.

fd] 81 and 83 together are sufficient to
answer the Cuestion,

37. How many integers are there between

| and 100 which have 4 as a digit but
are not divisible by 49

fa) 5
i 11
fe) 12
fd) 13
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38. Let x, i be the volumes; m, n be the

magscs of two metallic cubes P and O
respectively. Each side of O is two times
that of P and mass of Qis two times that
of P. Let w=m/x and v=n/y Which
one of the following is correct?

fal uw=4%u
bl w="2uw
fo} p=mu

(el =i

39. The avernge age of a teacher and three

students is 20 wears, Il all the thres
astudents are of same age and the
difference between the age of the
teacher and each student is 20 years,
then what is the age of the teacher?

{a} 25 years
{b} 30 years
[e) 35 years

fd} 45 years

40. A person bought a car and sold it for

F3,00000. If he incurred a loss of
20%, then how much did he spend to
buy the car?

f) ¥ 3,060,000

b} ¥ 3.65,000

#fc) ¥ 3,70,000

(d) ¥ 3,75,000
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Directions for the following 6 [six) items :

Head the following five passages and answer
the items that follow. Your answers o these
items should be based on the passapes only.

Passapgo—1

Spanish ships i0 the late 16th century st
brought the potato tuber from South America to
Europe whereby in the early 19th century, it
had become a reliable backup o cereal crops,
particularly 1n the cold, rain-scaked soils of
Ireland, The Insh were socon almost whelly
dependent on the potato as their staple food.
And they were planting primarly one
prodigious variety, the ‘Lumper’ potato, whose
genetic fratlty would be cruelly exposed by the
Tfungus ‘Phyfophthora infestons". In 1845, spores
of the deadly fungus began spreading across
the country, destroving nearly all the Lumpers
in its path. The resulting famine killed or
displaced millions. 2

41. Which one of the following statements
best reflects the critical message of
the passage?

fal] For introducing any foreign plant
into a country, the soil and climate
conditions of that country should
be suitable,

{b) As a staple food of a country, tuber
crops like potato cannot replace
cersal crops.

Some of the fungal infections of
plants cannot bhe prevented or
stopped from spreading  across
large areas,

ic/

Felying on a homogeneous food
gource iz not desirable.

fa)
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Pagsapge—32

[ndia is at once among the fastest growing
global economies and home to the largest
number of malnourished children in the world,
Thers are regions where malnutriton is tof
the exception but the norm. And acrose the
country, malnutrition is the cause of death for
roighly half the 1'3 million children who dic
before their fifth birthday each year, Even those
children who survive sulfer permanently from
the damage that has already been done o
their bodize and minds from not getting enough
of the rght foede and nuirients. Arcund
44 million children under 5 are stunted. That
makes it harder for them to learn in school and
gubzequently sarn a living as adults, Their
lifetimye earnings potential iz almost & guarter
less than that of thelr healthy peers,

2. With reference to the above passage,
which of the following is/are the most
rational and practical implication/
implications?

1. India's Public Distribution System
should be monitored by the Union

Gosvernment.
2. Girls should be encouraged o
delay marriage and firet pregnancy,
3. Mothers should be encouraged
to  breastfeed  their  children

immediately after birth,

4, The supply of safe drinking water
and proper sanitation facifities to all
ghould be ensured,

5. Authorities should ensure
vaccination as preacribed.
Select the correct answer using the code

given below,

faj 1,2, 3 and 4
by 2,3, %and 5
fe} 1 only

fd] 2 and 5 enly

the
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gfisie—a

O ol WA T T 16 H v, shaen e
T wkm % wR P A e v e wegd e §
T A FEA B AEA B TR SRR (Em
2000 FRe Mo /Batur) swesy wanfed #t gen o
wren wN o @ sl sfE seE anen
TR B, S w2 el @ o G Al o aed
W T FO, W A {8 TR w9
% o w0 ®, w Ry wn sds Rl 9w
pEy 95 B T S W YA, UH % yaa &
o, w0 wm % 2 3 ga S S o9 s R
U % YT A S A Tt (silica) B wm
At B & o HeEh § sE smem RN B
I, FA F2H F AR T FE F A [ LA
w12 gl d wed ok Bm o dEe EEE wwm
Ecn Tl i e i e e e e B T
agd Al A sreafen B wm # o9 = oum S R
3wl & W e & et sl & B A m
St = | g, TR AR T 9 W
HTER T A B

43. Tefafen & % ¥9-9 99 waffis adem
Freed & o) audes ofrsds 4 Fred = oo
£

1. F St go # geed I 8wl R
w s )|

2. TR WOEL, 9F A R gen # am
TEIT TH T

3. SEEA % QIS 1 0 HE S e A
geaw =R % faw B wwwm 8

4. it wwa &1 5w @, e %
Y i i I A

5. werHE 96 d5 ven w5 uge S S
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e fem o gz s w0 a3 g
fal 2, 3#R5
() 1, 45
fe) HEA 2 HT 3
(d) e 1 i 4

TiEte—a

wwa #, witesdl e = § e § ol ae
o e o Wi Fd 8, el & wdle @ fien
v frgy s & Tom wem & wmn A ¥ weeR Wy
HH & W FEEE 1 79 ® w fifiE w8 98
T s S o § wiee g e g @
i =9 W & oE @ g A el el e
oA & fem 9 @ v wa 1 Frafe ey d 9 o
1 W1 wig mitERl W oA #8898 usd
arl § afe-d-afis 99 998 W 98 8, Tl
s T, woeA v frand gilim 6w

44, Tvm vitsds & Wi 8, Feafafin gEhamomd
T

1, wenE T A W e AR T
vt siHEm, sl ofElEe o o
speiirs it & wEm

2, afdl i T A . A e o
swigal dwm o a9 fE oS
=E|

3. WA A A e g e A g
T W 0 I R

T 4 A weel gdanongdoromd dg

T

f) R 1 32

il w2

fe) a3

i 1,233



Passage—3

The pulse varicty Pusa Arhar 16° has the
potential o be prown in the paddy-growing
rezions of Punjab, Haryana and Uttar Pradesh
and eventuslly in all of India, s yield [about
2000 kgfhectare] will be significantly greater
than those of the existing varieties and becanse
ite mizge will be uniform, it will be amenable o
mechanical harvesting, an atiractive feature for
farmers in northern India who currently use
this technology for paddy. Most important,
Arhar straw, unlike paddy straw, is green and
can be ploughed back into the eoil. In paddy
atraw, the problem is the high silica content,
which does not allow for easy decomposition,
[n the case of Arhar, the farmer, even after
combine harvesting, just needs 0 run a
rotovater 1o cut the leftover straw into pieces,
which can be ploughed back and will
decornpose very fast. All this is difficult with
leftover pacddy stalks that cannot be casily
salvaged or ploughed back. Farmers, therefore,
choose the casiest option of simply burning &

43. Which of the following arc the most
rational inferences that can be made

from the passage?
1. FParmers’ income will be higher with

pulse cultivation than with paddy
cultivation.

2 Pulse cultivation causes less
pollution as compared to paddy
cultivation,

3.  Pulse straw can be used to improve
soil quality.

4. In the context of northern Indien
agriculture, paddy straw has no
uzefulness.

5, Mechanized agriculture is the main
cause for stubble burming.

HGY-D-LEUV/S9A

Select the correct answer using the code
grven below,

) 2, 3and 5
b} 1,4 and 5
e} 2 and 3 only
] 1 and 4 only

Passagc—>3

In India, authoritiea always look to store the
maximum amount of water in reservoirs during
the moneson season, which is then used for
irrgation and generation of electricity during
the summer months, 1L i an internationally
accepted practice that the water level of &
reserveir should be kept below a certain level
before the onset of monsoon scason, This i8 so
that when monaonon rains come, there i3 space
to store the excess rainwater and alao 3o thal
water can be released in a regulated manner.
Fut the puthoritics store the maximum ameum
of water in reservoire even before the close of
the monsoon, only to ensure greater electricity
generation and frrigation.

44, With reference to the above passage, the
following assumptions have been made

1. High risks involved in holding
maximium waler in reservoirs are
due to our over-dependence on
hydropower projects.

2, Storage capacity of dame ehould
not be fully used before or during
monsoon SEa50T.

3, Role of dams in flood control is
underestimated in India,

Which of the above assumptions isfare

valid?

fal 1 and 2 only

fbj 2 only

el 3 ouly
) 1, 2 and 3

[ P.T.O.



ufredE—5

wid 1 anfifs e w0 aen i wwen §
aféw wea @ T g W 9 R o R anids
muieEE | sgal e fem b el 8 a5,
WP T e R e o e A spE A g
gh s i & Wi @ Tem-TaR 9fe, e
it afn gl s wwenE] % w9 8 vl #) ui
it 6 & aw §, = i dwe sdrava % wga
w2 we b v, sndEm, e @ e = i
* Wl witg § Fes ¥ Ak s 9 = e
& SR T ws fem § ewein o A
wrt =1 P i A el

45. 34 wisds B Frafefem § 4 #aemd
welfems wdheima sl mids Bl Fewn)
Frare 1 o AR

4%

T &) werm § oy e BB oas
1 snifider sfires ot gAfdew e am ue
T gifoniia fem amg)

wiE 3 a wfas adl A7 oA SR
= wrel P T e q @ 2 galn
iECERET
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A= fem e g WA R EE F g
fa) F=A 1

fb) F=EH 2

fep 1 a2 4

d) T4 1,772

46, T Ti=EE F T A, Feafaien o
T E

1. wwa # wdwmen A sl
H FlnE wiEm = i sEwE f
e TR W Wl e geE T
W AN FHE ke BT W EA TE A
%\

2, @il wlee & g el afE dnf
ot Feimm O i) wifh - m TEw

T A AP

FofE 4 @ FR-E g g 3
#/8f

jo) =4 1
ibl AT 2
fe) 1 3 2@

fd) @1, 982



Passage—D5

Eeonomic liberalbsation in India was shaped
largely by the
povernment than by the esconomic prioritics
of the people or by the long-term development
objectives, Thus, there were limitations in
been
subsequently validated by cxperience, Jobless

economic problems of the

conception and desipn which have

growth, persistent poverty and rising inequality
have mounted as problems since economic
liberalization began. And all these years later,

the
industrialization

four gquiet crises confront COONomY,;

agriculture, infrastructure,
and education as conatrainta on the country’s
future prospecis. These problems must be
resolved if economic growth has to be sustained

and transformed into meaningful development,

45. Which of the following isfare the most
ratlonal and logical inference’
inferences that can be made from the

passage?

I. [t is essential to rethink and
redefine the ecomomic role af the
State in the quest for development.

2 India haz not made effective
implementation of its policies in
social sectors nor made sufficient

investments in them.

HGY-D-LEUV/594
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Select the correct answer uaing the code
given below,

fa)

{b)

fc)

1 only

2 only

Both 1 and 2

fd} Neither 1| nor 2

46, With reference to the above passage, the
following assumptions have been made :

it

India’s cconomy needs to be greatly
integrated with global econonry so
as to create large number of jobs

and to sustain its  growth
mormenium,
Economic liberalization would

cause lange sconomic growth which
would reduce poverty and create
sufficlent employment in the long
rumn.

Which of the above assumptions is/are
valid?

fa)

1 only

{6l 2 only

fc)

Both 1 and 2

e} Neither 1 por 2

[P.T.0.



47. TF U W, TH gwERN, TF TEG 6 A g 49, e @ g @ = i

L 10% =i 20% i w5 g oin sgwon ACPQ : BESU :: MNGI : @
L% T R

2. 20% 3M 10% F Fw 2 G Tgwe fa) NPJL
10% =1 % A

E.Hﬁlﬂ%hﬂﬂﬂﬂwm iB) NOIM
20% 3 10% 1 w92

s & 4 a-m wd &7 i NP

fo) TEw W Fom dEe ) usd w= T
i fd) NPJM

My TS % fo #ae 2 wed s R

¥
80, = 1w - e = wem 37
fo} WEE S+ fom Faw 3wl arem R
Bl
w [2)°
(d} W% F T ot T v o= A& - n’r[ﬁl
e B
3
48. A8z o % i 1§ 26 T w R o (3)

R 9 GHI = 1578 #% DEF - 912
g, i ABC fud s 27

o @ (3
{b) 468
(e} 262

-2
) 246 @ (5]
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37, A shop  owner offers  the following 49. What iz the missing term @ in the
discount options on an article to @ following?
customer :

ACPQ : BESU » MNQGT - ]
L. Buccessive discounts of 10% B
20%, and then pay a service tax

af 10%
@l NPJI,
2, Successive discounts of 0% and
10%, and then pay a service tax
of 10% M NOJM
3. Pava service tax of 1% first, then
f;::&ua‘im discounts of 20% and el NPIL
Which one of the following iz correct?
d) NPJM
fe} 1 only is the best option for the
Clstamer,
6] 2 only i{s the best option for the
custormer, 60. What iz the largest number among the
following?
fcl 3 only iz the best option for the
Cusiomer,
136
fd) All the opticns are equally good for 4 [E]
the customer,

48. The letlers from A 1o Z are numbered ) [lJ_ﬁ
from 1 to 26 respectively, If GHI = 1578 4
and DEF = 912, then what is ABRC
equal to?
fa} 492 1]"‘

fe) [3
(B 468 P
fej 262

o (2)°
{dj 246 &

HGY-D-LKUV/E9A a1 | P.T.O,
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51. witraa v x 0 g0, fordt 6 3.1 m # i
B2 m, x % g% 7=

fa) 1% m
I

(b 1} m

i) 1-31-m

fdj 12 m

B2, ﬁqaﬁmﬂmﬁmﬁrﬁm

= WA ey T
16911-1921 481 355
1921-1831 464 363
1931-1941 452 312
1941-1951 39-9 274
1951-1961 41-7 238
1961-1971 411 189
1971-1981 371 14-8

oy wEl & s fawm W s

4i?

fa) 1911-1921

() 1941-1951

fef 1961-1971

fd} 1971-1981

HGY-D-LEUV/69A

53 T SIS e 1-272727... s e

Bt

ja} 13/11
Wl 14/11
fe] 127,99

(dj 13799

54, =7 % #1 g=H @W wEn wA-E R R 3,

4, 5 i g @ ForRm s w s 1 2 9
e BY

fa} 1012
) 1022
fo} 1122

) 1222

55. = et 1 Fuen woE i 40% T AR 30%

rieand faadfin ¥ Fafie @ wofe =
g T B, TR wE of 75w § s
wfien @ fmme ¢ @ © sl g o e
v @ i e B e e e ¥y s el
i favy o fnge 7 B2

fit) 33%%

b 34%

fe) 342%

-

d 35%



&l. What is the greatest length & such that
3; m and 33 m are integral multiples

of x#

fa] 11 m
fh) 113- m
fej 1lm

fd} 13 m

82, Consider the following data :

Year Birthrate Death rale
1911-1921 48:1 355 *
1921-1931 46-4 303
1931-1941 45-2 312
1941-1951 3949 274
1951-10&] A1 228
1961-1971 411 154
1971-1981 371 14-8

For which period was the natural

growth rate maximum?

fa) 1911-1921
b 1941-1951
fo) 1961-1971

[d} 1971-1981

HEGY-D-LEUV/50A

33

53. The recurring decimal representation

1'272727... is equivalent to
faj 13711
b 1411
fe) 127799

id) 137/99%

E4. What is the least four-digit number

when divided by 3, 4, 5 and & leavesz a
remainder 2 in each casze?

ja) 1012
b 1022
ol 1122

(d) 1222

85. In adult population of a city, 40% men

and 30% women are married. What
is the percentage of married adul
population if no man marries more than
oS WOImRn BII'EI no wWoalnarn D'Iﬂ_rl'il::ﬂ
maore than one man: anmd there are oo
widows and widowers?

fa) 331%
) 34%
fcf 34%%

{d) 35%

| P.T.0.



56, ¥4 51x27 = 35x62x 75 FH 100 4 Fafaa 5O, U F40 § A9 AR A, B o3 9 A A

T e &, o Srowe = BE # wn fagrd] o v g A 9 foidEt w
TR ¢ F wEEm o b, @ o E

fa) 30 Tamfi=n & sftem w5 == 5o

flay 25
(=1 R | L L

el 5

il 1 {B) UE U2 W

57. T2,500 ) uwk wwfn #) X, ¥ o z 9 fc] T8 =H @)

%:%:Eﬁﬁﬂiﬁmﬁﬁﬁﬁﬂmm?l
1 sl 2w @m % e s

= ¢ (d) st stwgl % ww w2 frad ol
e = wwan ¥

fa) ¥ 300 ’

) T 350

60. wEE # 50, F100, F200, 500 #HF

fel T 400 #2000 % Hm, T 7 A4 wn-d-em de
gl wY g, Rl R el e
{d) T 450 o weEd) BE
58. n ¥ 58 w0 & fam Fm (107 + 1 3 9 W ) 16
um 2 87
faj ﬁﬂu:ﬂﬁ?m . 15
i I i B B o
& el 14
fe) e T S Qi
fd) Fal) arEles wen o % T fd@ 10
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B6. What iz the remainder when E9. In a class, there are three groups A, B
5127 x 35x 62 = 75 iz divided by 1007 and C. If one student from group A and

two studente from group B are shifted

to group O, then what happens to the

fa) S50 average weight of the students of the
class?

(b 25

foh 5 fal Tt increasen.

fdl 1

fb) It decreases.

67. A sum of T 2,500 is distributed among
X,fmdzmthcmﬁnjz-:%:g.ﬂfhatia fe} It remaina the same.

the difference between the massmum
gshare and the minimum share?

8 fd} Mo conclusion can be drawn due to
fa) & 300 insufficient data.
fb) &350
fol ¥ <400 60. How many different sums can be formed

with the denominations ¥ 50, ¥ 100,
4 T 450 200, FH00 and 2,000 taking at
(ct} least three denominations at a tme?
BE. For what value of r, the sum of digits in fal 16

the number (10™ +7) i3 2?2

fa] For n=0only (b 15

(B For any whaole number n
fe) 14
fe} For any positive integer n only

fd] For any real number n fd} 10

HGY-D-LKUV/S9A 38 [PT.O.



Frfirfiam 6 (o) weriwt & fom Fisw
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freim—1

T F W e 98 & 9 | gee e @
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wEifies aifes it A e Beemen
= HEW 27
fo) R e s R ) anfls R
# s 7 =W R
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wr Ad £ §)
WA H S 1 s d e F
TEHTT WER R
sttt dae 1 Bl FEw = dienes
= 39 B & 9% A F w o w
U 3= e 2

()

fef

fd}

gibg—2
v & A w= i Fe e # g w1 e
i § B el o s w0 S o et el
T A B WY e adE g it
FE-T F w S & e and off o e T
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TH e S@t WO W R I e 2030 7
FoEr H 33wt w5 w0 F a9 ney 4 g e @
wiag & a0 38 fomn # 399t o s sdaEen
W wE w0 W el w1t §oad
Tim off fem ¥ o =l R, G owwy § W
AR L T T T A, e i ol R
w0 i Refem )

62, i ti=dw ¥ T=fafes § & $w-m
wallins mfds sty adans Rt B
F1 Wl 2F
o) IR W 33% we i WEd o
esEga & W = ey ¥

fb) vrE = el s § fEn e
=g T = s = e

fc) i wareEl o Sgn S IR d
T TR B WA B |

(@ va w wRe w6 g@e § sfas
T A TR |

63, 3w wl=ie ¥ gof A, Fefafer oo
o R

1. wER g i e O Hem e add
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T, Tram e %1 W)
2030 % e § 33% S o W
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i
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fa) a9 1
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Directions for the following 6 (six) items :
Read the following five passages and answer
the items that foliow. Your answers to these
items ghould be based on the passages only,

Passage—1

Bank credit to the industrial sector has started
shrinking. Its decline has been a serious
concern as credit growth is essential to revive
investmenl. The problem’s origins He in the
incomplete reforme of the Ilast 25 years, An
inatitutional change that should have followed
the 1991 reforms should have been setting up
of a resolution corporation for banks. In a
market economy with booms and busts, banks
ehould be allowed to be s=t up and to fail
Today, we cannot shut down banks becausc
there is no proper system to shut them down,
Weak loss-making banks continue to need more
capital.

61. Which one of the kollowing is the mogt
logical and rational inference thal
can be made from the above passage?
fa} Indian banking system iz not able

to help the country in its economic

gronwth.

Economic reforms that started in

1991 have not helped in improving

the economy to expected levels.

L

fe} India lacks the institutional
mechanistm to deal with the failure
of bamnles.

(] Encouraging the foreign
investments in  our Industrial

sector is a good alternative to this
sector's dependence on banks for
credit.

Passage—2

India has Iiremendous potential for solar
energy. We all realize that we have to stop
burning fessil fuels to meet our energy needs,

HGY-D-LEUV/59A

aT

Bur certain renewable resources are still going
through their cost curves and learning curvee
to pget the required amount of output, The
Indian Government has strongly committed to
its targets of reducing emissions by 33 per cent
by 2030, and towards this it has initiated a
strong push towards a gas-based economy and
has also invested heavily in renewable energy.
Howrever, business houses are wary of investing
too heavily in renewable energy at a time when
the technology is net yet ready,

62. Which one of the following is the most
logical and rational inference that
can be made from the above passags?

fa) India"s commitment to  reduce
emissiona by 33% is unlilely to be
achigved,

India should import gas rather
than invest in renewable resources.

b

fo

fe} Getting renewable resources

market o0 soon may be costly,

India should put in more efforts in
the exploration of natural gas.

fdl}

63d. With reference to the above passage, the
following assumptions have been made :

I, Governments often provide
mefficient and costly subsidies for
technologies that may not be ready
in the near future,

2, India's commitment of reducing
emisgions by 33% by 2030 shall be
on the basis of gae-baeed economy,

Which of the above assumptions is/are

valid?
fal 1 only
¢ B 2 only
foj Both 1 and 2
{d} Neither 1 nor 2

[ P.T.0.
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FHM FE, dEm e # mof 6w de
s wu @ gy o@Fm F oIm oM oW 9@ @TH B
=y & s ol o aF fed i S
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1 Temfaty w5 e fen = wwa §, W S afEn
% il w9 & S o w wd B

64, THF s F wed A, Foafafen g

A e ¥

1, N g9 § U= TEn | 3R WA
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2. W g % g g ol A A e
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T e
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BrET

T

(b} FEE 2

fe) 1 # 2 FE

fd) Fd1, 982

wiwie—a4
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AR W T ey w e
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=i woE v s sEite Se-wE w5 Wi W
THT W FR A w8 E R e & =
wf fi & A w1 osEes & o BEE o R
Tl s TEmW R, e 99 WOR R we-ahim On
il B

65. A & w=d o, Prafafer 8 3 29w s
Y=g % Fiad HaR T AR ST weET
.44
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Papsage—3

Genome  editing is  different from pgenome
medification. Genome editing typically involves
finding the part of a plant genome that could be
changed to render it less vulnerable to disease,
or resistant to cortain herbicides, or to increasa
vields. Rescarchers use ‘molecular sclssors' to
dizgect the petiome and repair i, which is a
process that occurs naturally when plants are
under attack from diseases and can throw up
new mutations that enable the plant t© survive
future attacks. Thizs evolutiohary process can
effectively be apeeded up now that it is possible
lo examine plant genomes in  detail in
laboratories, and create mechanisms through
which the relevant genes can be altered very
precisely,

64. With reference to the above passage, the
following assumptions have been made :

1. Genome editing does not r:q:lin:
the transfer of genes from one plant

to another.
2. Through pgenome editing, the
choscn genes can  be  altered

precigely in @ menner skin to the
natural process that helps plants 1o
adapt to the envirenmental factora.

Which af the above assumptions is/are
valid?

ra) 1 only

B 2 only

fe} Both 1 and 2

fe] MNeither 1 nor 2

Pasgapgo—i4
Many people understand the connection
between solid waste management and health in
termz of the consequences of unattended heaps
of dry pgarbage which become home for flies
and other vermin. However, there iz another

HGY-D-LEUV /504

a9

agpect that iz pob well-understood, that is,
what happens when unacientific solid waste
managemen! combines with poor drainage and
dumping of untreated sewage inte drains which
are meant 1o carry storm water during rains,
The result is choked drains which are full of
stagnant water brecding mosquitoes, resulting
in the spread of water-borne diseases.

6B, In the context of India, which one of the
following statements best reflects the
critical megszage of the passapc?

fal Tn India, the drainage networks
are not separate for sewerage and
storm water.

Urban local bodies do not have
enough resources and legislative
autharity to deal with the problems
of waste management,

el

Selid waste management should be
integrated with the maintenance of
drainage and sewerage networks.

fe)

il Bad management of solid waste
and acwerage sysiems by our
municipalibes is the reason for
drinking water shortages in our

cities.

Passage—5

In Part IIT of the Constitution, which assures
people certain fundamental rights, Article 25
proclaime that “all persons are equally entitled
to freedom of conscience and the right freely Lo
profeas, practise and propagate religion™ What
people fail to notice is that this proclamation
is prefixed with the words “subject to public
order, morality, health and to the other
provisions of this Part”, which set conditions
precedent for the legal protection of religious
practices of any community. The closing words
of this prefatory rider in Article 25 virtually
constitute a subordination clause placing other

| BT.O.
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fundamental rights mentoned im0 Part 11l over
and above the nght to religious freedom. Among
those other fundamental rights is the right o
equality before law and equal protection of
laws—asgsured at the outset and elaborated in
later articles to mean, inter alia, that the State
shall not deny equal protection of laws to any
person or group of persons on the basis of
religion alone.

66. What iz the most logical inference from
the above passage?

{a]  Siate shall not interfere with the
religious affairs of the citizens.

(b} Religious freedom  under the
Constitution is open to State
intervention.

fe) Religious freedom of the citizens
is not covered under fundamental

rights.

jel) Religiour  practices of  any
community are immune o State
lawa.

67. How many different 5-letter words (with
or without meaning] can be constructed
using all the letters of the word DELHI
=0 that each word has to start with D
and end with I?

fu] 24
fbl 18
o) 12
fd) &

HGY-D-LEUV /594
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GB. A bottle contains 20 litres of liguid A,

4 litres of liquid A is taken out of it and
replaced by same guantity of liquid £
Again 4 litres of the mixture is taken
out and replaced by same quantity of
liquid B What is the mtio of guantity of
liquid A to that of liquid & in the final
mixture?

fal 431
fb) 5:1
fel 16 : 9
fd} 17 : 8

69. The average score of a bataman after

his 50th innings was 464, Aflter G0th
innings, his average score increases Dy
2.5, What was his average score m the
last ten innings?

fe) 122

B 91

fel 62

fd} 49

T0. As a result of 25% hike in the price of rice

per kg, a person is able to purchase 6 kg
less riee for 1,200, What was the
original price of rice per kg?

{a) ®30

) T4

fcl ¥ 50

{d) T60
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T1l. A person X can complete 20% of work

in 8 days and another person ¥ can
complete 25% of the same worle in
6 dawvs. Il they work fogether, in how
many days will 40% of the work be
completed?

fa) 6
fgf 10

b &
fd} 12

T3 A car travels from a place X to place ¥ at

an average speed of v km/hr, from ¥ to
X at an average spead of 2 lom/hr,
again from X 10 ¥ at an averape speed of
Au kemfh and again from ¥V to X el an
average speed of 4» km/hr. Then the
average spesd of the car for the entire
Journey

fal iz less than o kmfhr

fb} lies between v and 2v km/hr

fe) lies bDetween 2v and 3v km/fhr

fd} lies between 30 and 9¢ km/hr »

73. Consider the following statements ;

1. The minimum number of points of
intersection of a sguare and a cirele
iz 2,

2.  The maximum number of points of
intersection of a square and a circle
is 8. \

Which of the above statements is/are

correct?

faj 1 only

{bj 2 only

fe) Both 1 and 2
fell Meither 1 nor 2

T4. A man takes hall ime in rowing a certain

distance downstream than upstream.
What iz the ratio of the speed in still
water (o the speed of current?

fa) 1:2 b 2:1

fe} 1:3 fd) 3:1

HGY-D=-LE1N /554

Th.

Te.

TH.

T3,

a0.

How many pairs of patursl numbers gre
there such that the difference of whose
sgquareca a 637

fa) 3
fet 5
Which eone of the following will have
minimum change in its value if 5 is
added to both numerator and the
denominatar of the fractions 273, 3/4,
4/5 and 5767
fal 2/3

el 45
A digit A>3 18 divisible by 3 but not
divisible by 6, Which one af the
following 1z divisible by 47

fa} 2n fb) En

el 2n+d fdl Srn+1
If T litre of water weighs 1 kg, then how
many cubic milimetres of water will
weigh O¢1 gm?

faj 1 bl 10

jel 100 fef} 1000
A vessel full of water weighs 40 kg I7 it
is one-third flled, its weight becomes
20 kg. What is the weight of the empty
vesse]?

faj 10 kg

(Bf 15 kg

el 20 ke

d) 25 kg
A frog tries to come out of a driesd well
45 m deep with slippery walls, Every
time the frog jumps 30 cm, slides down
15 em. What is the number of jumps
required for the frog fo come out of the
well?

fe) 28 b} 29
fc} 30 id) 31

& A
fdj 2

fbl 3[4
(d) 5/6

| BT.0,
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